Using Excel to Make an Amortization Schedule

I. Calculating the Loan Payment.

Click on the Paste Function button or Insert
Function. Select Financial from the first list and PMT
from the second.list.

Paszte Function 7] |

Funcior category:

Furickion name:

Al

[Dake & Time

Matkh & Trig
Skatistical

Lookup & Reference
Database

Texk

Logical

PMT{rate,nper,py,f¥ type)

Caloulakes the pavient for a loan based on constant payments and &

conskant interest rake;

2

Mosk Recently sed ﬂ

p—

Information ﬂ

DB
DD
Fy
IPMT
IRR.
MIRF.
MNPER.
PP

§ PHT

PRMT
Py

A

.-

oK I Cancel

In the box that comes up

* Rate is the monthly interest rate or APR/12
* Nper is the total number of payment periods
* PV is the amount being borrowed

* FV is the balance you want to have after the
payments are made (0 since we want it all
paid off)

* Ignore Type

* Click OK

Notice that you can use arithmetic operations in
assigning the values. The monthly payment is then
$874.02. It is in red because it's negative, meaning
that it's money paid out.

Make these selections:
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Il. Making the Amortization Schedule

An amortization schedule is a table of the loan balance after each payment, along with a breakdown of how much of
the payment went to equity and how much was interest. These are easy to make in Excel once you've written the
formula for the calculations. Let's think about how to calculate the loan balance after the first month in the first example.
The balance is originally $125,000. At the end of the first month, interest has accrued, but only 1/12 of the APR. So the
interest is 125000%(.075/12). But there's the payment of $874.02, as well. So the balance is

(previous balance + interest - payment) = 125000 + 125000%(.075/12) - 874.02. We'll replace some of these with

variables.
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